=
e

T P 1235 ) .5 o}
_3_%= -\6 E_ 1+ =2 . §
2l = +F =N f=8)e ~MN+3 =2
12 _(=5) = 12+5=1%F ~ 5 H B 5 235221954415
= +272

)jq/__?d?-.t-ll -\-l?.'-l‘_.yl’(f 2 A E et e 1]

bos G6- (382 (-165) - (35 )= 5 &)
= L& BB L, 5.5
= Blik B =49 5
{

B ke 0 ) A7) R, a5l € 3)
= 4% 6,4 -3, 2 +8,1-3,8 ¢

= A o ,%121 =03

g(-h) ):'.‘.3 =_3¢ =\ KL(,::..-LlL( \SX.(.—L{\:-CC)

-3 252} = +5¢

293 5% B R L5 P
(T e) Cl = i

—4x3x (-0, 25Kk€ =+ A x3 €= Sy
A o R e G e T A e B a
== Y0 35 . _AGH
~Aw25) L e el ol o B

= lo“-‘-‘)ﬁ 28=32% 0o

= g R ek Y
= (B=F)ni = =6 x? == |
= ~2\= (-8¢5) - m—:—(-2-8\=»2\+QB\-\ur(—*t>)

E "):L‘ =% ~
‘;_q I PR T (L) =-2+28 = + 13

Tl =D Bot)= - s R (A= ct =%
Fo [ 5-(5-8)x[ 22 +%8-31 3[13__(_35}&[‘__2.1 +323
S Csv3]x(- B) =€ x-13=- 159

1}

oy
—

—



C 2 5wl -3 x GT)- (9B ¢ (-6 )
= —lo (6\ - (—-'}’Z_) 4 (-—-—-(.(7_\
5 ol & WB BRSPSl NG i
TR - G)x (1~x(-q\fa)
= (-t‘.% +5) % (28 v1)

= 0, 5wt 215
@ “—: %a'-"gb %=3&,Zb_5 rc,-\--ﬂ
e S :3(—L&\—2x3—‘5(-‘5+4)
= i8S Dt -2 —6 — 9kt
= 2. & 4 20

= _ \ExlD = 2.

A5
)L &-»\ = BLBECR AL = e 5E
9j\ edr we e _ 2556
b} —is3 _ (-534}= 3% £3BL " 337

JQ) %\ eo mo\h}r(’ de33 3w
z°) »3F —FhuC = — Lo
(}&\ G’J\\' éka.sc,uv\c\u C\c_ (.Lbﬂw\

7
)& Pt:: (-Qx%:«‘z_ _ G

Bl R W g
Ohiee %xc-/sa\;%é

e = (—»iﬁ@)k (’\”45



